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211470 ZIOO |[=FEBEE 60
211470 ZI00 |=FHEB (B) 60
311425 FEOO |=EFX 60
311425 FEOO |=EmEX 60
312272 FEOO |=EFX 60
312272 FEOO |=ZFEE (B) 60
411005 FOO |=Ek%EX 60
411005 FOO |[=ZF%EX 60
411011 FOO [=Z=F&E (24) 60
411020 FOO |=LEEBEE 60
411020 FOO |=LEEYE 60
411020 FOO |[=ZF%EX 60
411031 HOO |= EREEIHTEIERER 60
411042 TOO  |=EBEIX 60
411042 TOO |=E%EX 60
411082 H2OO |=EHEB (B) 60
411091 H2OO |=EHEB (B) 60
411091 H2OO |=FEX 60
411091 HOO |=FHEB (B) 60
411102 HOO |= ERE3I1TEEERER 60
411102 HOO |= FEE3IHTEI R RER 60
411105 FOO |=LEEYE 60
411105 FAOO |=FHE8 () 60
411141 OO |=EBFX 60
411141 OO |=FEIX 60
411141 OO |=FEX 60
411147 OO |=E&EX 60
411147 OO |=FEX 60
411147 OO |=FEE (B) 60
411151 #HOO |=LEEBEE 60
411151 #HOO |=LEEYIE 60
411151 HOO |=FRESEEERAM 60
411162 OO |=ZEEE (B) 60
411162 OO |=FEE (B) 60
411162 OO |=NREHEB(B) 60
411162 OO | = TEIEEE () FEEIR) 80
411162 OO | =TT B A FR) 95
411167 #HOO |=TNEEBYIE 60
411167 OO |=FEE (B) 60
411169 OO |=E%EX 60
411169 OO  |= ERSEEIHT B FRER 60
411169 OO0 |= 5B () 60
411169 OO |=LEHmEHEE) 60
411169 OO |=FEX 60
411171 OO |=E%EX 60
411174 OO  |= LEEYIE 60
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411174 OO |= FEEYIE 60
411174 OO |=FHE () 60
411175 OO0 |=EBIX 60
411175 OO |= B FRESER 60
411175 OO |=FEIX 60
411175 OO |=FEX 60
411184 FEOO |=FREMEEERAM 60
411185 OO |=LEEBEE 60
411185 OO |=FEX 60
411185 OO |=FEE (B) 60
411198 HOO |=LEBEE 60
411198 HOO |=ZLEEBEY 60
411200 HOO |=LEBEE 60
411200 HOO  |=LEEYE 60
411200 OO |[=FHEB () 60
411213 OO  |= EREERIHTEI R FRER 60
411251 BOO |=ZEHEB () 60
411251 OO  |= FEEYE 60
411251 BOO |[=FHE (B) 60
411258 OO | = EREEEE(R) 60
411285 HOO |=ZFEX 60
411316 OO |= LEEEMIE 60
411316 OO |[=E&E () 60
411316 OO |=EHMEHEE) 60
411322 OO |[=E&E () 60
411322 OO |=F&EX 60
411322 OO |= NEEYIE 60
411322 OO | = N EXEEREM 60
411333 OO |[=EBEX 60
411333 OO |= LEEEYIE 60
411338 OO |[=E&E () 60
411338 OO |= NEELE 60
411363 OO |= EEEE 60
411367 OO [=FNEE () 60
411379 OO |=ZEEE (B) 60
411379 OO |= EHEHEBB) 60
411379 OO |=ZFEE (B) 60
411387 OO |=EBIX 60
411387 mOO |=ZEHEB (D) 60
411387 OO |=FEXIEX 60
411387 OO |= FREEERAM 60
411387 OO | =" FREEE (1) 60
411411 =500 |=LEEYE 60
411414 =00 | = TEIEHEE () @R) 85
411414 =OO | = NS AL IR 94
411420 H#OO |=FRESMEEXRAM 60
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411466 BEOO |=F&EX 60
411478 2OO |=EBIX 60
411478 25OO |=E%EX 60
411478 25OO |=FEX 60
411492 ZIOO |= LERSE3IHTEI R RER 60
411500 200 |=Ek%EX 60
411516 2500 |=ZEEE (B) 60
411516 2200 |=FEBEE 60
411516 2500 |=ZFEE (B) 60
411521 2500 |=E=®EX 60
411521 2500 |=F®EX 60
411522 2500 |=EFX 60
411522 2500 |=FEX 60
411522 2500 |=ZFEE (B) 60
411525 2500 |=E=®EX 60
411534 2500 |=ZEEE (B) 60
411534 2200 |=FEBEE 60
411534 2500 |="FRFEBIHT I PRER 60
411534 2500 |=ZFEE (B) 60
411544 OO0 |[=EHEEX 60
411544 OO |=EHEB () 60
411544 OO |=ZFEIX 60
411544 OO |=FEBEE 60
411544 OO |= FEE3IHTEI R RER 60
411544 OO |=FHEB () 60
411553 EBEOO |=LEBEE 60
411553 EOO |=FEX 60
411553 BEOO |[=FEBEE 60
411565 FEOO |=EmEX 60
411565 HEOO |=ZFEX 60
411569 BEOO |=LEEYE 60
411570 FEOO |=ZEEE (B) 60
411570 OO |= FEXEX 60
411570 BEOO |=TMEEYE 60
411570 FEOO |=ZFEE (B) 60
411590 #HOO |=F®EX 60
411591 #HOO |=LEEYE 60
411591 #HOO |=ZEEE (B) 60
411595 MOO |=LEBEE 60
411603 OO |=ZEHEB (B) 60
411605 OO |=Z E8E (B) 60
411613 #HOO |=LE@BXFREEER 60
412016 FOO |=LEEYE 60
412016 FOO |[=ZE8E () 60
412016 FOO [=FEBEE 60
412039 25OO |=FEX 60
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412043 200 |=LHmEHE(R) 60
412043 200 |[=FHE () 60
412075 #HOO |=LEEBEE 60
412075 #HOO |[=FEBEE 60
412087 OO =T UERAZM (T){#HIK) 84
412087 HOO  |[=TerEHE () EIR) 85
412087 HOO | =T CETE B A RR) 91
412096 HOO |=F&EX 60
412096 OO =T UERAZM (T){#HIK) 81
412096 OO | = TEIEEE () FEEIR) 85
412096 HOO | =TT HE A RR) 91
412144 HOO |= FNESEItrAaEERE 60
412144 HOO [=MEEBYE 60
412144 HOO |ZMEE (B) 60
412148 HOO [=FEEX 60
412154 OO | = TEIEEE () @EEIR) 80
412154 OO | =T EHE S A RR) 86
412154 FOO  |ETFUBRAZM (T)@#HIK) 87
412204 =00 |=LEEE (L) 60
412204 =OO |= EHEHEB (1) 60
412204 =OO |=ZF=EX 60
412205 =OO |=EFX 60
412205 =OO |=ZEEE () 60
412205 =OO |= EHEHEB (1) 60
412205 =OO |=ZMREEE(fD) 60
412209 BOO |=EEX 60
412247 #2000 |=EEE (L) 60
412247 2500 |= EHEHEB (1) 60




